CLASSIFIED |

International Examinations Papers |

Mob: +974 55373670/ 33787500
E-mail:chymrc.muhammad@agamail.com

MODULAR
MATHEMATICS/CORE-1

TOPIC-Algebra & Functions

Copyright© MRC® :( 6663 -€1)-2017 497455258711 rashed.saba@gmail.com



Leave
blank
1. (a) Write down the value of 8.
(1)
(b) Find the value of 8%,
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1. (a) Write down the value of 167,

(b) Find the value of 16~
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2. (a) Write down the value of 164,
1)
]
(b) Simplify (16x'*)* . Z.-0%
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2. (a) Find the value of 83.
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1. Find the value of
1
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2. (a) Evaluate (32, giving your answer as an integer. Foi—) 2
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(b) Simplify fully | 2>
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2. (a) Write down the value of 32°
2 8)
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(b) Simplify fully (32x°) i) Y
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3. (a) Find the value of 8

2
(b) Simplify fully L"_
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1. (a) Find the value of 16*

i

(b) Simplify x(2x 1)
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1. (a) Write down the value of 125%.
(1)
.2
(b) Find the value of 125 3.
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2. Given that 32Vv2 =24 find the value of .
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2. Express 8 in the form 2, stating y in terms of x.
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2. Express 9°** ! in the form 37, giving y in the form ax + b, where a and b are constants.
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7. Given that y = 2%,

(a) express 4* in terms of y.

(b) Hence, or otherwise, solve

8(4) - 9(2") +1=0
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Ti~ty

1.

Write
V(75)-N©2D)

in the form kVx, where k and x are integers.
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3.

(a) Simplify
V50 - 18

giving your answer in the form a+/2 , where a is an integer.

(b) Hence, or otherwise, simplify

1243
V50 - V18
-6

giving your answer in the form bc , where b and ¢ are integers and b # 1
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) 2. (a) Expand and simplify (7 + V5)(3 - V5). "
3
(b) Express 7415 in the form a+b5, where a and b are integers.
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5. (a) Write V45 in the form aV5, where a is an integer.

(b) Express in the form b + ¢V'5, where b and ¢ are integers.
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2. (a) Express V108 in the form a\3, where a is an integer.
1)
(b) Express (2—V3)? in the form b + ¢\3, where b and ¢ are integers to be found.
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3.

Simplify

v

giving your answer in the form a + bV3, where a and b are integers.
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3. Simplify

5-24/3
\3-1

giving your answer in the form p+g+3, where p and g are rational numbers.
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(a) Simplify

V324418

giving your answer in the form a2, where  is an integer.

(b) Simplify

V32++18
3+2

siving your answer in the form bV2+c, where b and ¢ are inte ers.
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. (1) Express

(5-V8)(1+V2)

in the form a + 52, where a and b are integers.

(1) Express

Jgo + 30

V5

. ! ” .
in the form c¢V35, where ¢ is an integer.
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3.

Show that

2
V(12)-V(8)

. . ~ i . .
can be written in the form Va + \b, where a and b are integers.
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1. Simplify

7+5
J5 -1

giving your answer in the form a + b/5 , where g and b are integers.
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1. Simplify
(@) (2V5)°
0y

giving your answer in the form a + Vb, where ¢ and b are integers.
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(a) Write V80 in the form ¢V5, where ¢ is a positive constant.

0))
A rectangle R has a length of (1 + V5) cm and an area of V80 cm?.

(b) Calculate the width of R in cm. Express your answer in the form p + g\5, where p
and ¢ are integers to be found.
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6. (a) Expand and simplify (4 + V3)(4 — \3).
2

~ (b) Express 4A in the form a + bV3, where @ and b are integers.
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1. Simplify

@ (337)

(b) (8+5)(2-V5)

2

R

(Total 4 marks)

Leave
blank

(W] L) A ~ ~ A Y a o A A




l.,ea\r'e.
blank
3. Expand and simplify (V7 + 2)(N7 - 2).
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1. Simplify 3+V5)(3-V3).
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1. Factorise completely x — 4x°
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2. Factorise completely
x> — 9x.
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1.

Factorise completely

x> — 4x* + 3x.
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